-

{ | | i t P
K i) 'lll [ Jllllll““l % ' ‘r, *”HI ” T h ”bl’ ]J Jres ,I”.‘ ”/ s l) ,”,r! inve f—Zf"lj P 'h’:

Aty rowl of | Citven an 1

connecting 1', 0 nnd K

p r.scw(_i__
JR'
= KG
_—

2150 = he()f
Aen
2260 = 50K
%
(1)
percentage change in I,

P, = 40 x0-8uQ

oS

-33.60
12 AR

2L 86

JR

-_—
-

(b)In a soccer compet

partly constant and pa

G = 12 when S= 4, find the value of G when S 6.

G:C_+K5
8 c + 2K
12 C +A4K

—
= ks T ety waves

Y50 whien ()

A%0) and M

J50k = 2250 25
i 4o U

S e T

W50
K= 1 OEY
uo U
",
P = LOG
e

If O is decreased by 167

i

A

P

of

2 8
ke

\on

%Chuqﬂc = &_‘_Px 100

P
288

AR

-

- {‘_9__,61 x 100
AR
40 %5

(28"#0) « 100

e
T
40 %

z 26- 40,00
40

ition, the number of goals (G) scored in a penalty shoo

G=1b

and R increased by 44%s,

OA, wiritee Qo aly eqraat ion

(4 1iarks)

calculate the
(3 mks)

-12 :IUU
AU

-
-

iz B

-
-

= Percentage Change

in P s deuewsed
by 307,

t — out i

rtly varies as the skill (S) of the player. Given that G = 8 when S =2 and

(3 marks)

G=u+25
Whens-,-
G=hL+\2

4

9|Page



r

R i el sl () LU LR P v ey
i ' “" "’ “‘“‘ fll LN if”-(“.‘”l ih‘. | i Ip

R R TR AR TTT Y e » e

|
yout dnt Kk
m‘ﬂ'm‘w--:mﬂr# -‘ ’ “
i) Find the value of k |9 p (Shikn)
: - r o= §
Al ‘{umu\j pomt (j& ) }‘b v (
dux
X8 or~i
0z 3z 6x-1 o>y
" + Y
e j’ﬂ*__'?” Min point (":,U)
‘ D=3% 3(3)"- 9B)+ k-
6512 0 xa7-27-274k
B 2 a1 *K
b) The coordinates of the maximum point of the curve, (2mks)
Mal POiﬂt ool B |
2
Yy=(-1>-3(-1)- 96127
Y- =32
Comrdmates of max PD'"{ -( ' /32)
2) I ind the arca of the shaded region. (3 mks)
=8l .27-8, g
(55 _3x* 9z +27)dx ! _'.?T
2 : 152
o . 328 Vet L i1 _%. Square units
4 3 a4 .
. u 3 % 0 11|Page
[£-50) g6 o | 3375 s it
A




-
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geometric Progression:
(a) Determine the values of 4

) are the

first three consecutive terms of a

t and the common ratio,
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(c) Another sequence has the terms
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